
The Thanos Question
Meritocracy Continued…



What do these have in common?



Power Law



Hierarchies and Power Law



Do we care?



Inequality sucks but what if…

http://www.youtube.com/watch?v=t-_PfdQ0DYo&t=18


Let’s make a model

● That is unequal (assumes wealth is 
power law)

● That assumes mechanism for passing 
on wealth



Include

● Ambition (mobility)
○ Mark Cuban
○ Oprah Winfrey

● Society Builds
○ 10 generations ago if you were rich you had a horse
○ 1 generation ago if you were rich you had a cell 

phone

This doesn’t incorporate changing inequality



Questions

Do we get entrenched inequality?

What would it take for people to improve their lives?

How would ambition as a mechanism affect things?



Model

● Population = 100
● 10 generations (US is 7-12 old)
● 2 children (replacement level)
● Match - assortative, agent wealth + normal noise

○ Std - 0.15
● Wealth power law distributed by rank
● Resources start at 1e10 (10 Billion) - gini coeff of 

○ (1e7 more like US)
● Maximize potential improves society



Agents

● Potential [0.1, 1.0] (Unrefined + Developed)
● Ambition [0.0, 1.0]
● Opportunity [0.0, 1.0]

Potential Gap = Potential - Unrefined

Competency = Unrefined + (Ambition * Gap) + (Opportunity * Gap)

Productivity = Competency * Resource Potential

Rank: relative competency



Calibration

● Assortative mating, intelligence ~0.4
● Child intelligence heritability 20-80%



Results (Scenario 1)

Assumptions

● Assume ambition has 0 effect
● Assume opportunity has full effect
● Unrefined = 0.3

To get productive economy need productivity factor of 1.99



Scenario 1

For rank 0, in 3 generations:
● Best: 57
● Worst: 0

For rank 100:
● Best: 100
● Worst: 99



Scenario 1: Mobility



Scenario 1: Missed Potential



Scenario 2

Assumptions

● Assume ambition has max 0.7 effect
● Assume opportunity has full effect
● Unrefined = 0.3

To get productive economy need productivity factor of 1.2

Keeping it at 1.99 gives us this hockey stick graph



Scenario 2

For rank 0, in 3 generations:
● Best: 71
● Worst: 10

For rank 100:
● Best: 100
● Worst: 57



Scenario 2: Mobility



Scenario 2: Missed Potential



Conclusion / Future

● Mobility effect
● What would the effect of minimum assistance be? 

○ 0.1 floor for opportunity for example
● etc


